Algebral
2-1
Basic Properties

Commutative Property:  Stems From commaute — 4o move

of Addition- 7+ 6 = é+77

of Multiplication - 7(&) = & (7)

Associative Property: $+€=s From Associa&_c— o Srou{)
deals with 3(’611151'\3 Sjm\'sols

Label the correct property illustrated by each.

*1) 7+21=21+7 *2)  (6:8)12=12(6-8)

of Addition - Felz+ D = @+D+) Com,qu{::\‘(','u e Commutative pPof X
PPOP‘ Th trick f
his is a trick problem, because of the
ot Mutiplcaion - 4 (203 = (-2 e T
enclose. Notice, they stay around the 6 and 8.
It is the 12 that moves.
Simplify. (pg 47)
| | L, 17) (7y)(5z) 21) a+3+b+4
1) 275+52+25+8 7) 67 +43 +15+% -
25+ 2+ Grasrlity 35ye el
300460
2¢0 [+ S The @ and b don't match,
13 so we cannot add them.
‘We use the commutative
property to add together the Rule -
numbers easiest for doing When adding - on ‘3 adJ like terms U+ Cx =Sx
mental math. I +23 = can‘hdo

When multiplying - mu [t "Plj q.,\:){-l\.'nj
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